v 4 —_—
3 113 F<F 2RMBERFHLE == R3 3
#1: 4 Catchall(44.22) #2: 5 Cyclops(31 4) #3: 3 E2(30.33)
1 INS: =EHE fEFaiE(ERO) -1 4 NS: FREE#E =HE{_(BAC) 11 VP:| 7.03 12.97 | Total VP: 25.01 Rank:
EW: $8{— 5 MR EHAC) -11 EW: RER HRAR(BHO) 1 IMP:| 9 5
s -
#1 » QT97 4SN5 450 Mean: 4SN5 450 00 6 ||#2 » J743 4HW4 -420 Mean: 5DXE-1 100 80 1
v 4SN5 450 450 v K98 4HW4 -420 -240 2SE3 140 30 1
+ KQT865 Dif: 0 NS:0 * 84 Dif: 0 NS:-5 3HW4 170 2.0 1
» KQ4 IMP: 0 EW:0 » JT53 IMP: 0 EW:5 4HW4 420 50 2
s A42 s 83 T # A9865 3NW4 430 50 1
v K8532 v A97 v AQJT76 I v
* J72 ¢ Ad3 *T7 ¢ A96532
» 82 & J9763 + KQ & 74
%® ¢V BN 4 KIS *¢VABN 4 Q2
N ~4~53 yQJT64 N ~~~~~ v 5432
S ~4~53 ¢9 § ~~~~~ + KQJ
E ~~~~~ & AT5 E ~4~43 & A982
W ~~~~~ W ~4~43
#3 aT 3NN-1-50 Mean: 4DXS4 510 9.0 1 ||#4 » Q85 3HN4 170 Mean: 3HN4 170 1.0 1
v Q72 3NS3400 140  3NS3 400 60 1 v AKQ96 3HN3 140 140  4CS5 150 00 1
¢ T652 Dif: -450 NS:-5 3DS5 150 0.0 1 7 Dif: 30 NS:1  3HN3 140 00 2
» AT865 IMP: -10 EW:-6 3NN-1 50 50 2 » AKJ5 IMP: 1 EW:0 2HN3 140 00 2
» Q874 » KJ32 3NS-2 100 6.0 1 » AK9 a T742
v 865 v KT43 + v 8432
¢ J943 .7 ¢ J8
J7 & KQ93 & 942
o ¢ VAN 4o A5 & J63
N 45~~1 vAJ9 v J7
S 45~~1 ¢ AKQS ¢ 6532
E ~~~~~ » 42 » Q876
W ~~~ ~ ~
#5 & T753 1NW1 -90 Mean: 1NW1 -90 00 5(|#6 & K63 3CN3 110 Mean: 3CN3 110 50 1
v A95 1NW1-90 -90  1NW2 120 1.0 1 v AK 3DE4-130 -90  3DE4 130 1.0 3
+ A863 Dif: 0 NS:0 * K2 Dif: 240 NS:5 2DE4 130 1.0 2
» J8 IMP: 0 EW:0 » 187432 IMP: 6 EW:1
& AK9 s J42 75 & AQJT9
v JT4 v K873 v 85432 — v QJ
KQ ¢ T2 ¢ T873 + AQ94
» Q9653 & KT42 » AQ & 65
o ¢ VABN 4o Q86 ¢ VBN 4 842
N ~2~~~ yQ62 N 1~~~~ ¢ T976
S ~2~~~ ¢J9754 § ~~~~~ ¢ J65
E 3~2~1 aA7 E ~4344 aKJ
W 3~2~1 W ~4344
#7 a A9653 2SN4 170 Mean: 4SN4 620 100 1 ||#8 aT 4SXS-2 -300 Mean: 5HXW-3 500 11.0 1
vT9 2SN4 170 180  2SN4 170 0.0 2 v Q93 4SXS-2 -300 -70  4HW-1 50 30 1
¢ KT987 Dif: 0 NS:0 2SN3 140 1.0 1 ¢ AJ74 Dif: 0 NS:-6 4SS-2 100 1.0 1
aA IMP: 0 EW:0 2SN2 110 20 1 » KJ432 IMP: 0 EW:6 4SXS-2 300 -60 3
» KJ2 a T8 4SN-1 100 -7.0 1 & 532 a A
v K83 + v QJ542 v JT52 v AK8?
+ A64 + Q53 + Q9852 ¢ KT3
» Q974 S & JT8 Q & AT987
oo VAN ,Q74 % ¢ VAN 4, KQJIB764
N ~2~3~ vAT76 N ~~~2~ 964
S ~2~3~ ¢J2 S ~~~2~ 46
E 1~~~1 &K6532 E ~44~4 a65
W 1~1~1 W ~44~4
#9 A 76 4HN-2 -100 Mean: 2HN2 110 80 1 # 10 » KJT4 4HE-1100 Mean: 4HE-1 100 40 4
v T975432 3HN-1-50 -230  3HN-1 50 5.0 1 v 87 4HE-1100 -50  4SS-1 100 -20 1
+ A64 Dif: -50 NS:4 4HN-2 100 40 1 ¢ 8753 Dif: 0 NS:4 4HE4 620 -11.0 1
a2 IMP: -2 EW:-5 2SE4 470 2.0 1 » K96 IMP: 0 EW:-4
# J83 » AKQ42 4SE4 620 9.0 1 ||e A2 » 86
v AQ v 86 3NW3 600 90 1 ||lwT5 + v KQJ9432
* QJ975 ¢ 832 * Q942 + K6
» A74 & JT6 & J8754 & A3
B VABN AT oo VABN 4, Q9753
N ~~2~~ vKJ N ~1~2~ v A6
S ~~2~~ ¢KT S ~1~2~ AT
E ~3~42 &KQ9853 E 1~3~~ &QT2
W ~3~42 Wi1~3~~
# 11 » T932 3DE-2100 Mean: 3DE-2 100 20 1 |[[|#12 s J4 3SW3 -140 Mean: 3SXW-1 100 50 1
v A96 3DE-150 20  3DE-1 50 10 3 v 64 3SXW-1100 -90  2SwW2 410 1.0 1
¢ KT5 Dif: 50 NS:2 2SN-1 50 20 2 + K986532 Dif: -240 NS:-2 3SW3 140 20 3
» Q95 IMP: 2 EW:-1 & AJ IMP: -6 EW:-5 2SW3 140 20 1
& Q764 aJ & QT852 » K93
v K852 v QJ v AJ9 I v 852
* 87 ¢ AQJ643 ¢ AT7 *Q
a J72 & A864 & 76 & K85432
¢ VAN 4, AKSES VAN 4, A76
N ~~11~ ¢T743 N ~2~~~ ¢ KQT73
S ~~11~ ¢92 S ~2~~~ ¢ J4
E 12~~1 aKT3 E 2~~31 &QT9
W 12~~1 W 2~~31
#13 & KQT6 3HXW-1 200 Mean: 3HXW-1 200 1.0 3 ||# 14 A 76 5HS6 480 Mean: 4SXW-3 500 1.0 1
v 3HXW-1200 180 3CS6 170 00 3 v QT53 4SXW-3 500 480  4SXE-3 500 1.0 1
¢ T876 Dif: 0 Ns:1 + Q982 Dif: -20 NS:0 5HS6 480 0.0 4
» K7532 IMP: 0 EW:-1 » A85 IMP: -1 EW:-1
A 742 s J93 & AKQJ2 # T98543
v AK87654 v 93 v K4 v J6
* 02 -|— + AKQ94 * T74 63
a~J & T86 & T63 & J74
o ¢ VAN 4 A8 F*OVAN 4,
N 5~~3~ »QJT2 N 66 6 ~1 v A9872
S 5~~3~ 53 S 666 ~1 ¢ AKJS
E ~~1~~ &AQ%4 E ~~~1~ &KQ92
W ~~1~~ W ~~~1~




v 4 —_—
3 113 F<F 2RMBERFHLE == R3 3
#1: 4 Catchall(44.22) #2: 5 Cyclops(31 4) #3: 3 E2(30.33)
2 INS: PR BEREIR(EEO) 8 5 NS: ZRfiEs ZBIIFA(BAC) 5 | VP:| 11.58 : 8.42 Total VP: 27.04 Rank:
EW: 2858 BEHSUEFC) -5 EW: BiFiE S5E(F0) -8 IMP:| 31 26 4
s -
#1 » QT97 4SN5 450 Mean: 4SN5 450 00 6 ||#2 » J743 3NW4 -430 Mean: 5DXE-1 100 80 1
v 4SN5 450 450 v K98 5DXE-1 100 -240 2SE3 140 30 1
+ KQT865 Dif: 0 NS:0 * 84 Dif: -530 NS:-5 3HW4 170 2.0 1
» KQ4 IMP: 0 EW:0 » JT53 IMP: -11 EW:-8 4HW4 420 50 2
s A42 s 83 T # A9865 3NW4 430 50 1
v K8532 v A97 v AQJT76 I v
* J72 ¢ Ad3 *T7 ¢ A96532
» 82 & J9763 + KQ & 74
%® ¢V BN 4 KIS *¢VABN 4 Q2
N ~4~53 yQJT64 N ~~~~~ v 5432
S ~4~53 ¢9 § ~~~~~ + KQJ
E ~~~~~ & AT5 E ~4~43 & A982
W ~~~~~ W ~4~43
#3 aT 3DS5 150 Mean: 4DXS4 510 9.0 1 ||#4 » Q85 4CS5150 Mean: 3HN4 170 1.0 1
v Q72 3NN-1-50 140  3NS3 400 60 1 v AKQ96 3HN3 140 140  4CS5 150 00 1
¢ T652 Dif: 200 NS:0 3DS5 150 0.0 1 7 Dif: 10 NS:0  3HN3 140 00 2
» AT865 IMP: 5 EW:5 3NN-1 50 50 2 » AKJ5 IMP: 0 EW:0 2HN3 140 00 2
» Q874 » KJ32 3NS-2 100 6.0 1 » AK9 a T742
v 865 v KT43 + v 8432
¢ J943 .7 ¢ J8
J7 & KQ93 & 942
o ¢ VAN 4o A5 & J63
N 45~~1 vAJ9 v J7
S 45~~1 ¢ AKQS ¢ 6532
E ~~~~~ » 42 » Q876
W ~~~ ~ ~
#5 & T753 1NW1 -90 Mean: 1NW1 -90 00 5(|#6 & K63 3DE4 -130 Mean: 3CN3 110 50 1
v A95 1NW1-90 -90  1NW2 120 1.0 1 v AK 2DE4-130 -90  3DE4 130 1.0 3
+ A863 Dif: 0 NS:0 * K2 Dif: 0 NS:-1 2DE4 130 1.0 2
» J8 IMP: 0 EW:0 » 187432 IMP: 0 EW:1
& AK9 s J42 75 & AQJT9
v JT4 v K873 v 85432 — v QJ
KQ ¢ T2 ¢ T873 + AQ94
» Q9653 & KT42 » AQ & 65
o ¢ VABN 4o Q86 ¢ VBN 4 842
N ~2~~~ yQ62 N 1~~~~ ¢ T976
S ~2~~~ ¢J9754 § ~~~~~ ¢ J65
E 3~2~1 aA7 E ~4344 aKJ
W 3~2~1 W ~4344
#7 a A9653 4SN4 620 Mean: 4SN4 620 100 1 ||#8 aT 5HXW-3 500 Mean: 5HXW-3 500 11.0 1
vT9 2SN2 110 180  2SN4 170 0.0 2 v Q93 4SXS-2 -300 -70  4HW-1 50 30 1
¢ KT987 Dif: 510 NS:10 2SN3 140 1.0 1 ¢ AJ74 Dif: 800 NS:11 4SS-2 100 1.0 1
aA IMP: 11 EW:2 2SN2 110 20 1 » KJ432 IMP: 13 EW:6 4SXS-2 300 -60 3
» KJ2 a T8 4SN-1 100 -7.0 1 & 532 a A
v K83 + v QJ542 v JT52 v AK8?
+ A64 + Q53 + Q9852 ¢ KT3
» Q974 S & JT8 Q & AT987
oo VAN ,Q74 % ¢ VAN 4, KQJIB764
N ~2~3~ vAT76 N ~~~2~ 964
S ~2~3~ ¢J2 S ~~~2~ 46
E 1~~~1 &K6532 E ~44~4 a65
W 1~1~1 W ~44~4
#9 A 76 3NW3 -600 Mean: 2HN2 110 80 1 # 10 » KJT4 4HE-1100 Mean: 4HE-1 100 40 4
v T975432 2HN2 110 -230  3HN-1 50 5.0 1 v 87 4HE-1100 -50  4SS-1 100 -20 1
+ A64 Dif: -710 NS:-9 4HN-2 100 40 1 ¢ 8753 Dif: 0 NS:4 4HE4 620 -11.0 1
a2 IMP: -12 EW:-8 2SE4 470 2.0 1 » K96 IMP: 0 EW:-4
# J83 » AKQ42 4SE4 620 9.0 1 ||e A2 » 86
v AQ v 86 3NW3 600 90 1 ||lwT5 + v KQJ9432
* QJ975 ¢ 832 * Q942 + K6
» A74 & JT6 & J8754 & A3
B VABN AT oo VABN 4, Q9753
N ~~2~~ vKJ N ~1~2~ v A6
S ~~2~~ ¢KT S ~1~2~ AT
E ~3~42 &KQ9853 E 1~3~~ &QT2
W ~3~42 Wi1~3~~
# 11 » T932 2SN-1-50 Mean: 3DE-2 100 20 1 |[[|#12 s J4 2SW2 -110 Mean: 3SXW-1 100 50 1
v A96 3DE-150 20  3DE-1 50 10 3 v 64 3SW3 -140 -90  2SW2 410 1.0 1
¢ KT5 Dif: 100 NS:-2 2SN-1 50 20 2 + K986532 Dif: 30 NS:-1 3SW3 140 20 3
» Q95 IMP: -3 EW:A1 & AJ IMP: 1 EW:2 2SW3 140 20 1
& Q764 aJ & QT852 » K93
v K852 v QJ v AJ9 I v 852
* 87 ¢ AQJ643 ¢ AT7 *Q
a J72 & A864 & 76 & K85432
¢ VAN 4, AKSES VAN 4, A76
N ~~11~ ¢T743 N ~2~~~ ¢ KQT73
S ~~11~ ¢92 S ~2~~~ ¢ J4
E 12~~1 aKT3 E 2~~31 &QT9
W 12~~1 W 2~~31
#13 & KQT6 3CS6 170 Mean: 3HXW-1 200 1.0 3 ||# 14 A 76 4SXE-3 500 Mean: 4SXW-3 500 1.0 1
v 3CS6170 180  3CS6 170 00 3 v QT53 5HS6 480 480  4SXE-3 500 1.0 1
¢ T876 Dif: 0 NS:0 + Q982 Dif: 20 NS:1 5HS6 480 0.0 4
» K7532 IMP: 0 EW:0 » A85 IMP: 1 EW:0
A 742 s J93 & AKQJ2 # T98543
v AK87654 v 93 v K4 v J6
* 02 -|— + AKQ94 * T74 63
a~J & T86 & T63 & J74
o ¢ VAN 4 A8 F*OVAN 4,
N 5~~3~ »QJT2 N 66 6 ~1 v A9872
S 5~~3~ 53 S 666 ~1 ¢ AKJS
E ~~1~~ &AQ%4 E ~~~1~ &KQ92
W ~~1~~ W ~~~1~




v 4 —_—
3 113 F<F 2RMBERFHLE == R3 3
#1: 4 Catchall(44.22) #2: 5 Cyclops(31 4) #3: 3 E2(30.33)
3 INS: MRk BEEHHEHO) -14 6 NS: G5 SIZE(BAC) -11 VP:| 10.33 : 9.67 Total VP: 30.33 Rank:
EW: &Rt BREE(EHC) 11 EW: REFIE #E1R(F0) 14 IMP:| 25 24 3
s -
#1 » QT97 4SN5 450 Mean: 4SN5 450 00 6 ||#2 » J743 3HW4 -170 Mean: 5DXE-1 100 80 1
v 4SN5 450 450 v K98 2SE3 -140 -240 2SE3 140 30 1
+ KQT865 Dif: 0 NS:0 * 84 Dif: -30 NS:2 3HW4 170 2.0 1
» KQ4 IMP: 0 EW:0 » JT53 IMP: -1 EW:-3 4HW4 420 50 2
s A42 s 83 T # A9865 3NW4 430 50 1
v K8532 v A97 v AQJT76 I v
* J72 ¢ Ad3 *T7 + A96532
» 82 & J9763 + KQ & 74
%® ¢V BN 4 KIS *¢VABN 4 Q2
N ~4~53 yQJT64 N ~~~~~ v 5432
S ~4~53 ¢9 S ~~~~~ + KQJ
E ~~~~~ & AT5 E ~4~43 & A982
W ~~~~~ W ~4~43
#3 aT 3NS-2 -100 Mean: 4DXS4 510 9.0 1 ||#4 » Q85 2HN3 140 Mean: 3HN4 170 1.0 1
v Q72 4DXS4 510 140  3NS3 400 60 1 v AKQ96 2HN3 140 140  4CS5 150 00 1
¢ T652 Dif: -610 NS:-6 3DS5 150 0.0 1 7 Dif: 0 NS:0 3HN3 140 00 2
» AT865 IMP: -12 EW:-9 3NN-1 50 50 2 » AKJ5 IMP: 0 EW:0 2HN3 140 00 2
~ Q874 » KJ32 3NS-2 100 6.0 1 s T742
v 865 v KT43 + v 8432
¢ J943 *7 ¢ J8
J7 & KQ93 & 942
o ¢ VAN 4o A5 & J63
N 45~~1 vAJ9 v J7
S 45~~1 ¢ AKQS ¢ 6532
E ~~~~~ » 42 » Q876
W ~~~~ ~
#5 & T753 1NW2 -120 Mean: 1NW1 -90 00 5(|#6 & K63 2DE4 -130 Mean: 3CN3 110 50 1
v A95 1NW1-90 -90  1NW2 120 1.0 1 v AK 3DE4-130 -90  3DE4 130 1.0 3
+ A863 Dif: -30 NS:-1 * K2 Dif: 0 NS:-1 2DE4 130 1.0 2
» J8 IMP: -1 EW:0 » 187432 IMP: 0 EW:1
& AK9 s J42 75 & AQJT9
v JT4 v K873 v 85432 — v QJ
KQ ¢ T2 ¢ T873 + AQ94
» Q9653 & KT42 » AQ & 65
¢ VAN ,Q86 oV AN 4842
N ~2~~~ »Q62 N 1~~~~ ¢ T976
S ~2~~~ ¢J9754 S ~~~~~ ¢ J65
E 3~2~1 aA7 E ~4344 aKJ
W 3~2~1 W ~4344
#7 a A9653 4SN-1-100 Mean: 4SN4 620 100 1 ||#8 aT 4HW-1 50 Mean: 5HXW-3 500 110 1
v T9 2SN3 140 180  2SN4 170 0.0 2 v Q93 4SS-2 100 -70  4HW-1 50 30 1
¢ KT987 Dif: -240 NS:-7 2SN3 140 1.0 1 ¢ AJ74 Dif: 150 NS:3 4SS-2 100 1.0 1
aA IMP: -6 EW:1 2SN2 110 20 1 » KJ432 IMP: 4 EW:1 4SXS-2 300 -60 3
» KJ2 a T8 4SN-1 100 -7.0 1 & 532 a A
v K83 + v QJ542 v JT52 v AK8?
+ A64 + Q53 + Q9852 ¢ KT3
» Q974 S & JT8 Q & AT987
oo VAN ,Q74 % ¢ VAN 4, KQJIB764
N ~2~3~ vA76 N ~~~2~ ¢64
S ~2~3~ ¢J2 S ~~~2~ 46
E 1~~~1 &K6532 E ~44~4 a65
W 1~1~1 W ~44~4
#9 A 76 2SE4 -170 Mean: 2HN2 110 80 1 # 10 » KJT4 4SS-1 100 Mean: 4HE-1 100 40 4
v T975432 4SE4 -620 -230  3HN-1 50 5.0 1 v 87 4HE4 -620 -50  4SS-1 100 -20 1
+ A64 Dif: 450 NS:2 4HN-2 100 40 1 ¢ 8753 Dif: 520 NS:-2 4HE4 620 -11.0 1
a2 IMP: 10 EW:9 2SE4 470 2.0 1 » K96 IMP: 11 EW:11
# J83 » AKQ42 4SE4 620 9.0 1 ||e A2 » 86
v AQ v 86 3NW3 600 90 1 ||lwT5 + v KQJ9432
* QJ975 ¢ 832 * Q942 + K6
& A74 & JT6 & J8754 & A3
B VABN AT oo VABN 4, Q9753
N ~~2~~ vKJ N ~1~2~ v A6
S ~~2~~ ¢KT S ~1~2~ AT
E ~3~42 »KQ9853 E 1~3~~ &QT2
W ~3~42 Wi1~3~~
# 11 » T932 2SN-1-50 Mean: 3DE-2 100 20 1 |[[|#12 s J4 3SW3 -140 Mean: 3SXW-1 100 50 1
v A96 3DE-150 20  3DE-1 50 10 3 v 64 2SW3 -140 -90  2SW2 410 1.0 1
¢ KT5 Dif: 100 NS:-2 2SN-1 50 20 2 + K986532 Dif: 0 NS:-2 3SW3 140 20 3
» Q95 IMP: -3 EW:A1 & AJ IMP: 0 EW:2 2SW3 140 20 1
& Q764 s J & QT852 » K93
v K852 v QJ v AJ9 I v 852
* 87 ¢ AQJ643 ¢ AT7 *Q
a J72 & A864 & 76 & K85432
¢ VAN 4, AKSES VAN 4, A76
N ~~11~ ¢T743 N ~2~~~ ¢ KQT73
S ~~11~ ¢92 S ~2~~~ ¢J4
E 12~~1 aKT3 E 2~~31 &QT9
W 12~~1 W 2~~31
#13 & KQT6 3CS6 170 Mean: 3HXW-1 200 1.0 3 ||# 14 A 76 5HS6 480 Mean: 4SXW-3 500 1.0 1
v 3HXW-1200 180 3CS6 170 00 3 v QT53 5HS6 480 480  4SXE-3 500 1.0 1
¢ T876 Dif: -30 NS:0 + Q982 Dif: 0 NS:0 5HS6 480 0.0 4
$K7532 IMP: -1 EW:-1 » A85 IMP: 0 EW:0
A 742 s J93 & AKQJ2 # T98543
v AK87654 v 93 v K4 v J6
* 02 -|— + AKQ94 * T74 63
a~J & T86 & T63 & J74
o ¢ VAN 4 A8 F*OVAN 4,
N 5~~3~ »QJT2 N 66 6 ~1 v A9872
S 5~~3~ 53 S 666 ~1 ¢ AKJS
E ~~1~~ &AQ%4 E ~~~1~ &KQ92
W ~~1~~ W ~~~1~




v 4 —_—
3 113 F<F 2RMBERFHLE == R3 3
#1: 4 Catchall(44.22) #2: 5 Cyclops(31 4) #3: 3 E2(30.33)
4 INS: BEES$E =2 EAC) 11 1 NS: S48 hidm it (BAO) -1 VP:| 1297 : 7.03 Total VP: 44.22 Rank:
EW: R0 a5 REE0) 1 EW: $E{_# MER(BAC) 1 IMP:| 19 : 9
s -
#1 » QT97 4SN5 -450 Mean: 4SN5 450 00 6 ||#2 » J743 4HW4 420 Mean: 5DXE-1 100 80 1
v 4SN5 -450 450 v K98 4HW4 420 -240 2SE3 140 30 1
+ KQT865 Dif: 0 NS:0 * 84 Dif: 0 NS:-5 3HW4 170 2.0 1
» KQ4 IMP: 0 EW:0 » JT53 IMP: 0 EW:5 4HW4 420 50 2
s A42 s 83 T # A9865 3NW4 430 50 1
v K8532 v A97 v AQJT76 I v
* J72 ¢ Ad3 *T7 + A96532
» 82 & J9763 + KQ & 74
%® ¢V BN 4 KIS *¢VABN 4 Q2
N ~4~53 yQJT64 N ~~~~~ v 5432
S ~4~53 ¢9 S ~~~~~ + KQJ
E ~~~~~ & AT5 E ~4~43 & A982
W ~~~~~ W ~4~43
#3 aT 3NN-150 Mean: 4DXS4 510 9.0 1 ||#4 » Q85 3HN4 -170 Mean: 3HN4 170 1.0 1
v Q72 3NS3 -400 140  3NS3 400 60 1 v AKQ96 3HN3 -140 140  4CS5 150 0.0 1
¢ T652 Dif: 450 NS:6 3DS5 150 0.0 1 7 Dif: -30 NS:0 3HN3 140 00 2
» AT865 IMP: 10 EW:5 3NN-1 50 50 2 » AKJ5 IMP: -1 EW:-1 2HN3 140 00 2
» Q874 » KJ32 3NS-2 100 6.0 1 » AK9 a T742
v 865 v KT43 + v 8432
¢ J943 .7 ¢ J8
J7 & KQ93 & 942
o ¢ VAN 4o A5 & J63
N 45~~1 vAJ9 v J7
S 45~~1 ¢ AKQS ¢ 6532
E ~~~~~ » 42 » Q876
W ~~~~ ~
#5 & T753 1NW1 90 Mean: 1NW1 -90 00 5(|#6 & K63 3CN3 -110 Mean: 3CN3 110 50 1
v A95 1NW190 -90  1NW2 120 1.0 1 v AK 3DE4130 -90  3DE4 130 1.0 3
¢ A863 Dif: 0 NS:0 * K2 Dif: -240 NS:-1 2DE4 130 1.0 2
» J8 IMP: 0 EW:0 » T87432 IMP: -6 EW:-5
& AK9 s J42 75 & AQJT9
v JT4 v K873 v 85432 — v QJ
KQ ¢ T2 ¢ T873 + AQ94
» Q9653 & KT42 » AQ & 65
¢ VAN ,Q86 oV AN 4842
N ~2~~~ »Q62 N 1~~~~ ¢ T976
S ~2~~~ ¢J9754 S ~~~~~ ¢ J65
E 3~2~1 aA7 E ~4344 aKJ
W 3~2~1 W ~4344
#7 a A9653 2SN4 -170 Mean: 4SN4 620 100 1 ||#8 aT 4SXS-2 300 Mean: 5HXW-3 500 11.0 1
vT9 2SN4 170 180  2SN4 170 0.0 2 v Q93 4SXS-2300 -70  4HW-1 50 30 1
¢ KT987 Dif: 0 NS:0 2SN3 140 1.0 1 ¢ AJ74 Dif: 0 NS:-6 4SS-2 100 1.0 1
aA IMP: 0 EW:0 2SN2 110 20 1 » KJ432 IMP: 0 EW:6 4SXS-2 300 -60 3
» KJ2 a T8 4SN-1 100 -7.0 1 & 532 a A
v K83 + v QJ542 v JT52 v AK8?
+ A64 + Q53 + Q9852 ¢ KT3
» Q974 S & JT8 Q & AT987
oo VAN ,Q74 % ¢ VAN 4, KQJIB764
N ~2~3~ vA76 N ~~~2~ ¢64
S ~2~3~ ¢J2 S ~~~2~ 46
E 1~~~1 &K6532 E ~44~4 a65
W 1~1~1 W ~44~4
#9 A 76 4HN-2 100 Mean: 2HN2 110 80 1 # 10 » KJT4 4HE-1 -100 Mean: 4HE-1 100 40 4
v T975432 3HN-150 -230  3HN-1 50 5.0 1 v 87 4HE-1-100 -50 4SS+ 100 -20 1
+ A64 Dif: 50 NS:5 4HN-2 100 40 1 ¢ 8753 Dif: 0 NS:4 4HE4 620 -11.0 1
a2 IMP: 2 EW:-4 2SE4 470 2.0 1 » K96 IMP: 0 EW:-4
# J83 » AKQ42 4SE4 620 9.0 1 ||e A2 » 86
v AQ v 86 3NW3 600 90 1 ||lwT5 + v KQJ9432
* QJ975 ¢ 832 * Q942 + K6
& A74 & JT6 & J8754 & A3
B VABN AT oo VABN 4, Q9753
N ~~2~~ vKJ N ~1~2~ v A6
S ~~2~~ ¢KT S ~1~2~ AT
E ~3~42 »KQ9853 E 1~3~~ &QT2
W ~3~42 Wi1~3~~
# 11 » T932 3DE-2 -100 Mean: 3DE-2 100 20 1 |[[|#12 s J4 3SW3 140 Mean: 3SXW-1 100 50 1
v A96 3DE-1-50 20  3DE-1 50 10 3 v 64 3SXW-1-100 -90  2SW2 410 1.0 1
¢ KT5 Dif: -50 NS:1  2SN-1 50 20 2 + K986532 Dif: 240 NS:5 3SW3 140 20 3
» Q95 IMP: -2 EW:-2 & AJ IMP: 6 EW:2 2SW3 140 20 1
& Q764 s J & QT852 » K93
v K852 v QJ v AJ9 I v 852
* 87 ¢ AQJ643 ¢ AT7 *Q
a J72 & A864 & 76 & K85432
¢ VAN 4, AKSES VAN 4, A76
N ~~11~ ¢T743 N ~2~~~ ¢ KQT73
S ~~11~ ¢92 S ~2~~~ ¢J4
E 12~~1 aKT3 E 2~~31 &QT9
W 12~~1 W 2~~31
#13 & KQT6 3HXW-1 -200 Mean: 3HXW-1 200 1.0 3 ||# 14 A 76 5HS6 -480 Mean: 4SXW-3 500 1.0 1
v 3HXW-1-200 180  3CS6 170 00 3 v QT53 4SXW-3 -500 480  4SXE-3 500 1.0 1
¢ T876 Dif: 0 Ns:1 + Q982 Dif: 20 NS:1 5HS6 480 0.0 4
» K7532 IMP: 0 EW:-1 » A85 IMP: 1 EW:0
A 742 s J93 & AKQJ2 # T98543
v AK87654 v 93 v K4 v J6
* 02 -|— + AKQ94 * T74 63
a~J & T86 & T63 & J74
o ¢ VAN 4 A8 F*OVAN 4,
N 5~~3~ »QJT2 N 66 6 ~1 v A9872
S 5~~3~ 53 S 666 ~1 ¢ AKJS
E ~~1~~ &AQ%4 E ~~~1~ &KQ92
W ~~1~~ W ~~~1~




v 4 —_—
3 113 F<F 2RMBERFHLE == R3 3
#1: 4 Catchall(44.22) #2: 5 Cyclops(31 4) #3: 3 E2(30.33)
5 INS: s SFAEAC) 5 2 NS: FREH BREIB(BAO) 8 VP:| 8.42 11.58 | Total VP: 31.40 Rank:
EW: FiERE HAEGI0) -8 EW: 215158 EEHAY(RAC) -5 IMP:| 26 31 2
s -
#1 » QT97 4SN5 -450 Mean: 4SN5 450 00 6 ||#2 » J743 3NW4 430 Mean: 5DXE-1 100 80 1
v 4SN5 -450 450 v K98 5DXE-1-100 -240 2SE3 140 30 1
+ KQT865 Dif: 0 NS:0 * 84 Dif: 530 NS:8 3HW4 170 2.0 1
» KQ4 IMP: 0 EW:0 » JT53 IMP: 11 EW:5 4HW4 420 50 2
s A42 s 83 T # A9865 3NW4 430 50 1
v K8532 v A97 v AQJT76 I v
* J72 ¢ Ad3 *T7 ¢ A96532
» 82 & J9763 + KQ & 74
%® ¢V BN 4 KIS *¢VABN 4 Q2
N ~4~53 yQJT64 N ~~~~~ v 5432
S ~4~53 ¢9 § ~~~~~ + KQJ
E ~~~~~ & AT5 E ~4~43 & A982
W ~~~~~ W ~4~43
#3 aT 3DS5 -150 Mean: 4DXS4 510 9.0 1 ||#4 » Q85 4CS5 -150 Mean: 3HN4 170 1.0 1
v Q72 3NN-150 140  3NS3 400 60 1 v AKQ96 3HN3 -140 140  4CS5 150 00 1
¢ T652 Dif: -200 NS:-5 3DS5 150 0.0 1 7 Dif: -10 NS:0 3HN3 140 00 2
» AT865 IMP: -5 EW:0 3NN-1 50 50 2 » AKJ5 IMP: 0 EW:0 2HN3 140 00 2
» Q874 » KJ32 3NS-2 100 6.0 1 » AK9 a T742
v 865 v KT43 + v 8432
¢ J943 .7 ¢ J8
J7 & KQ93 & 942
o ¢ VAN 4o A5 & J63
N 45~~1 vAJ9 v J7
S 45~~1 ¢ AKQS ¢ 6532
E ~~~~~ » 42 » Q876
W ~~~ ~ ~
#5 & T753 1NW1 90 Mean: 1NW1 -90 00 5(|#6 & K63 3DE4 130 Mean: 3CN3 110 50 1
v A95 1NW190 -90  1NW2 120 1.0 1 v AK 2DE4130 -90  3DE4 130 1.0 3
+ A863 Dif: 0 NS:0 * K2 Dif: 0 NS:-1 2DE4 130 1.0 2
» J8 IMP: 0 EW:0 » 187432 IMP: 0 EW:1
& AK9 s J42 75 & AQJT9
v JT4 v K873 v 85432 — v QJ
KQ ¢ T2 ¢ T873 + AQ94
» Q9653 & KT42 » AQ & 65
o ¢ VABN 4o Q86 ¢ VBN 4 842
N ~2~~~ yQ62 N 1~~~~ ¢ T976
S ~2~~~ ¢J9754 § ~~~~~ ¢ J65
E 3~2~1 aA7 E ~4344 aKJ
W 3~2~1 W ~4344
#7 a A9653 4SN4 -620 Mean: 4SN4 620 100 1 ||#8 aT 5HXW-3 -500 Mean: 5HXW-3 500 11.0 1
vT9 2SN2 -110 180  2SN4 170 0.0 2 v Q93 4SXS-2300 -70  4HW-1 50 30 1
¢ KT987 Dif: -510 NS:-2 2SN3 140 1.0 1 ¢ AJ74 Dif: -800 NS:-6 4SS-2 100 1.0 1
aA IMP: -11 EW:-10 2SN2 110 20 1 » KJ432 IMP: -13 EW:-11 4SXS-2 300 -60 3
» KJ2 a T8 4SN-1 100 -7.0 1 & 532 a A
v K83 + v QJ542 v JT52 v AK8?
+ A64 + Q53 + Q9852 ¢ KT3
» Q974 S & JT8 Q & AT987
oo VAN ,Q74 % ¢ VAN 4, KQJIB764
N ~2~3~ vA76 N ~~~2~ ¢64
S ~2~3~ ¢J2 S ~~~2~ 46
E 1~~~1 &K6532 E ~44~4 a65
W 1~1~1 W ~44~4
#9 A 76 3NW3 600 Mean: 2HN2 110 80 1 # 10 » KJT4 4HE-1 -100 Mean: 4HE-1 100 40 4
v T975432 2HN2 -110 -230  3HN-1 50 5.0 1 v 87 4HE-1-100 -50 4SS+ 100 -20 1
+ A64 Dif: 710 NS:8 4HN-2 100 40 1 ¢ 8753 Dif: 0 NS:4 4HE4 620 -11.0 1
a2 IMP: 12 EW:9 2SE4 470 2.0 1 » K96 IMP: 0 EW:-4
# J83 » AKQ42 4SE4 620 9.0 1 ||e A2 » 86
v AQ v 86 3NW3 600 90 1 ||lwT5 + v KQJ9432
* QJ975 ¢ 832 * Q942 + K6
» A74 & JT6 & J8754 & A3
B VABN AT oo VABN 4, Q9753
N ~~2~~ vKJ N ~1~2~ v A6
S ~~2~~ ¢KT S ~1~2~ AT
E ~3~42 »KQ9853 E 1~3~~ &QT2
W ~3~42 Wi1~3~~
# 11 » T932 2SN-1 50 Mean: 3DE-2 100 20 1 |[[|#12 s J4 2SW2 110 Mean: 3SXW-1 100 50 1
v A96 3DE-1-50 20  3DE-1 50 10 3 v 64 3SW3 140 -90  2SwW2 410 1.0 1
¢ KT5 Dif: 100 NS:1  2SN-1 50 20 2 + K986532 Dif: -30 NS:-2 3SW3 140 20 3
» Q95 IMP: 3 EW:2 & AJ IMP: -1 EW:1 2SW3 140 20 1
& Q764 aJ & QT852 » K93
v K852 v QJ v AJ9 I v 852
* 87 ¢ AQJ643 ¢ AT7 *Q
a J72 & A864 & 76 & K85432
¢ VAN 4, AKSES VAN 4, A76
N ~~11~ ¢T743 N ~2~~~ ¢ KQT73
S ~~11~ ¢92 S ~2~~~ ¢J4
E 12~~1 aKT3 E 2~~31 &QT9
W 12~~1 W 2~~31
#13 & KQT6 3CS6 -170 Mean: 3HXW-1 200 1.0 3 ||# 14 A 76 4SXE-3 -500 Mean: 4SXW-3 500 1.0 1
v 3CS6-170 180  3CS6 170 00 3 v QT53 5HS6 -480 480  4SXE-3 500 1.0 1
¢ T876 Dif: 0 NS:0 + Q982 Dif: -20 NS:0 5HS6 480 0.0 4
» K7532 IMP: 0 EW:0 » A85 IMP: -1 EW:-1
A 742 s J93 & AKQJ2 # T98543
v AK87654 v 93 v K4 v J6
* 02 -|— + AKQ94 * T74 63
a~J & T86 & T63 & J74
o ¢ VAN 4 A8 F*OVAN 4,
N 5~~3~ »QJT2 N 66 6 ~1 v A9872
S 5~~3~ 53 S 666 ~1 ¢ AKJS
E ~~1~~ &AQ%4 E ~~~1~ &KQ92
W ~~1~~ W ~~~1~




v 4 —_—
3 113 F<F 2RMBERFHLE == R3 3
#1: 4 Catchall(44.22) #2: 5 Cyclops(31 4) #3: 3 E2(30.33)
6 INS: Fh7=0s SIEEEAC) -11 3 NS: #iR#E FRERA(BO) -14 VP:| 9.67 10.33| Total VP: 22.00 Rank:
EW: RHHE HEBGIO) 14 EW: ERiE5T 5REE(BAC) 11 IMP:| 24 25 6
s -
#1 » QT97 4SN5 -450 Mean: 4SN5 450 00 6 ||#2 » J743 3HW4 170 Mean: 5DXE-1 100 80 1
v 4SN5 -450 450 v K98 2SE3 140 -240 2SE3 140 30 1
+ KQT865 Dif: 0 NS:0 * 84 Dif: 30 NS:3 3HW4 170 2.0 1
» KQ4 IMP: 0 EW:0 » JT53 IMP: 1 EW:-2 4HW4 420 50 2
s A42 s 83 T # A9865 3NW4 430 50 1
v K8532 v A97 v AQJT76 I v
* J72 ¢ Ad3 *T7 + A96532
» 82 & J9763 + KQ & 74
%® ¢V BN 4 KIS *¢VABN 4 Q2
N ~4~53 yQJT64 N ~~~~~ v 5432
S ~4~53 ¢9 S ~~~~~ + KQJ
E ~~~~~ & AT5 E ~4~43 & A982
W ~~~~~ W ~4~43
#3 aT 3NS-2100 Mean: 4DXS4 510 9.0 1 ||#4 » Q85 2HN3 -140 Mean: 3HN4 170 1.0 1
v Q72 4DXS4 -510 140  3NS3 400 60 1 v AKQ96 2HN3 -140 140  4CS5 150 00 1
¢ T652 Dif: 610 NS:9 3DS5 150 0.0 1 7 Dif: 0 NS:0 3HN3 140 00 2
» AT865 IMP: 12 EW:6  3NN-1 50 50 2 » AKJ5 IMP: 0 EW:0 2HN3 140 00 2
» Q874 » KJ32 3NS-2 100 6.0 1 » AK9 a T742
v 865 v KT43 + v 8432
¢ J943 .7 ¢ J8
J7 & KQ93 & 942
o ¢ VAN 4o A5 & J63
N 45~~1 vAJ9 v J7
S 45~~1 ¢ AKQS ¢ 6532
E ~~~~~ » 42 » Q876
W ~~~ ~ ~
#5 & T753 1NW2 120 Mean: 1NW1 -90 00 5(|#6 & K63 2DE4 130 Mean: 3CN3 110 50 1
v A95 1NW190 -90  1NW2 120 1.0 1 v AK 3DE4130 -90  3DE4 130 1.0 3
+ A863 Dif: 30 NS:0 * K2 Dif: 0 NS:-1 2DE4 130 1.0 2
» J8 IMP: 1 EW:1 » 187432 IMP: 0 EW:1
& AK9 s J42 75 & AQJT9
v JT4 v K873 v 85432 — v QJ
KQ ¢ T2 ¢ T873 + AQ94
» Q9653 & KT42 » AQ & 65
o ¢ VABN 4o Q86 ¢ VBN 4 842
N ~2~~~ yQ62 N 1~~~~ ¢ T976
S ~2~~~ ¢J9754 S ~~~~~ ¢ J65
E 3~2~1 aA7 E ~4344 aKJ
W 3~2~1 W ~4344
#7 a A9653 4SN-1100 Mean: 4SN4 620 100 1 ||#8 aT 4HW-1 -50 Mean: 5HXW-3 500 11.0 1
v T9 2SN3 -140 180  2SN4 170 0.0 2 v Q93 4SS-2100 -70  4HW-1 50 30 1
¢ KT987 Dif: 240 NS:-1  2SN3 140 1.0 1 ¢ AJ74 Dif: -150 NS:-1 4SS-2 100 1.0 1
aA IMP: 6 EW:7 2SN2 110 20 1 » KJ432 IMP: -4 EW:-3 4SXS-2 300 -60 3
» KJ2 a T8 4SN-1 100 -7.0 1 & 532 a A
v K83 + v QJ542 v JT52 v AK8?
+ A64 + Q53 + Q9852 ¢ KT3
» Q974 S & JT8 Q & AT987
oo VAN ,Q74 % ¢ VAN 4, KQJIB764
N ~2~3~ vAT76 N ~~~2~ 964
S ~2~3~ ¢J2 S ~~~2~ 46
E 1~~~1 &K6532 E ~44~4 a65
W 1~1~1 W ~44~4
#9 A 76 2SE4 170 Mean: 2HN2 110 80 1 # 10 » KJT4 4SS-1 100 Mean: 4HE-1 100 40 4
v T975432 4SE4 620 -230  3HN-1 50 5.0 1 v 87 4HE4 620 -50  4SS-1 100 -20 1
+ A64 Dif: -450 NS:-9 4HN-2 100 40 1 ¢ 8753 Dif: -520 NS:-11 4HE4 620 -11.0 1
a2 IMP: -10 EW:-2 2SE4 470 2.0 1 » K96 IMP: -11  EW:2
# J83 » AKQ42 4SE4 620 9.0 1 ||e A2 » 86
v AQ v 86 3NW3 600 90 1 ||lwT5 + v KQJ9432
* QJ975 ¢ 832 * Q942 + K6
& A74 & JT6 & J8754 & A3
B VABN AT oo VABN 4, Q9753
N ~~2~~ vKJ N ~1~2~ v A6
S ~~2~~ ¢KT S ~1~2~ AT
E ~3~42 &KQ9853 E 1~3~~ &QT2
W ~3~42 Wi1~3~~
# 11 » T932 2SN-1 50 Mean: 3DE-2 100 20 1 |[[|#12 s J4 3SW3 140 Mean: 3SXW-1 100 50 1
v A96 3DE-1-50 20  3DE-1 50 10 3 v 64 2SW3 140 -90  2sW2 410 1.0 1
¢ KT5 Dif: 100 NS:1  2SN-1 50 20 2 + K986532 Dif: 0 NS:-2 3SW3 140 20 3
» Q95 IMP: 3 EW:2 & AJ IMP: 0 EW:2 2SW3 140 20 1
& Q764 s J & QT852 » K93
v K852 v QJ v AJ9 I v 852
* 87 ¢ AQJ643 ¢ AT7 *Q
a J72 & A864 & 76 & K85432
¢ VAN 4, AKSES VAN 4, A76
N ~~11~ ¢T743 N ~2~~~ ¢ KQT73
S ~~11~ ¢92 S ~2~~~ ¢ J4
E 12~~1 aKT3 E 2~~31 &QT9
W 12~~1 W 2~~31
#13 & KQT6 3CS6 -170 Mean: 3HXW-1 200 1.0 3 ||# 14 A 76 5HS6 -480 Mean: 4SXW-3 500 1.0 1
v 3HXW-1-200 180  3CS6 170 00 3 v QT53 5HS6 -480 480  4SXE-3 500 1.0 1
¢ T876 Dif: 30 Ns:1 + Q982 Dif: 0 NS:0 5HS6 480 0.0 4
» K7532 IMP: 1 EW:0 » A85 IMP: 0 EW:0
A 742 s J93 & AKQJ2 # T98543
v AK87654 v 93 v K4 v J6
* 02 -|— + AKQ94 * T74 63
a~J & T86 & T63 & J74
o ¢ VAN 4 A8 F*OVAN 4,
N 5~~3~ »QJT2 N 66 6 ~1 v A9872
S 5~~3~ 53 S 666 ~1 ¢ AKJS
E ~~1~~ &AQ%4 E ~~~1~ &KQ92
W ~~1~~ W ~~~1~




